New Maths GCSE: N6 - Powers and Roots

What does this equal?

102 B 20

100 B 12

23

What does this equal?

A s B 8

B 9 B o

Which number is smallest?

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

The square root of a number is

Explanation:
5. What is the number?

Correct Answer: ABCD
Explanation:

Whatdoes this equal? | e
16 B 6 |
24 Bl 8 | s

Correct Answer: ABCD

What is v/25? _

Explanation:
5
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— Correct Answer: ABCD

— Explanation:

/30 Correct Answer: ABCD
What is v207?

10
B asish
L e

Explanation:

you can’t do it

Correct Answer: ABCD
Which number is the smallest?

Explanation:

25 s
g s e
34 | e,
B - ettt
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